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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open
the question bookleat

1. Aseparate OMR Answer Sheetis supplied for writing
the answers. Writedown your application from no. &
12 digit roll number on it as per your Admission Card
and darken the appropriate circiles on the answer
sheets.

2. Check that set code (A,B,C or D) is printed in
the booklet and indicate your set code by
blackening the appropriate circle in the OMR
answer sheet.

3. Do not write anything in thisBooklet except the 12
digit Roll No. however you can use the blank pages
provided for the rough work at the end of this booklet.

4. Start answering when you are told to do so. Do not
turn the pages before that.

5. Answer all the questions.Each question has four
probable answers of which one is correct. You have
to choose the correct one and blacken your choice
in the OMR answer sheet by a black/blue ball point
pen. Use of pencil is not allowed. If your choice is
second response then answer like this.

6. For wrong answer, there is no deduction of marks.

One mark shall be awarded for each correct
response.

7. No Mark will he awarded for a question if a
candidate darkensmore than one choice.

8. Return the Answer Sheet only to the invigilator as
soon as the final bell rings.

9. English version of the question paper will be
considered as final if any dispute arises out of
variation in translated version.
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Q (1-4) : Find out the alternative which will
. replace the question (?) mark.

1. BCFG:HILM::NORQ: ?

A

B.
C.
D.

TXWU
TXUW
TUXW
TVWX

2. ZRYQ: KCJB:: PWOV: ?

A

B
- C.
D.

GBHA
ELDK
ISJT |
EOFP

3. KeaC:CaeK::XgmF: ?

A

B.
C.
D.
4, - Computer : fqprxvht :: Language : ?
A-

B
C.
D

Q (5-8) : Fill in the blanks from the alternatives
- looking at both letter and number patterns.

GmcF
FmgX
EgmX
EmgF

oxpixdig
ocqicyig
ocqixcjg |

ocqixcig

5. BCD,___, BCD,B.CD, BCD
 BCD
B. BC,D
C. B,CD
D. BCD,

g4 (1-4) : 600 FRIT g¢ 09 IR AL QaYs ?

1. BCFG:HILM::NORQ: ?

A

B.
C.
D.

TXWU L -
TXUW ' |
TUXW
TVWX

2. ZRYQ: KCJB::PWOV: ?

A
B.

C.
D.

GBHA -
ELDK
ISJT -

EOFP

3. KeaC:CaeK: XgmF: ?

A GmcF
B. FmgX
C. EgmX
D. EmgF
4. Computerffdprxvht:: Language: ?
A ‘ox'pi>'<dig '
 B. ocgicyig
C. ocqixcjg
D. ocqixc_.ig
g) (5-8) : TR B TG GG RMGA FGT ARG
FRING) QI8 RGP 9061 QR | .
5. BCD,__._,BCD, B.CD,BCD
A BC,D
B.. BC,D
C. BC)D
D. BCD

7

SMS - 2015-16



6. X5C,U8F,____ ,O17L,L230 . . 6.  X5C,USF,____,O17L,1230

A RI10K A R10K
B, P12l | B. P12l
C. R12I, C. Ri2I
D. Ri0l D. RI0I
7. C1AF4E,H9I,___  M25U T c1A,§4E,H9|,+,M25u‘
A J160 - A J60
B. K160 - | B. K160
C. J16M C. J16M
D. K16Q ' D. K16Q
8.  B6D,C12,D20P,_ 8.~ B6D]C12I,D20P,
A E30Y - ‘A - E30Y
B. E25Q | " B. E25Q
c. s - C. E30S
D

P20Z - D - P20Z

@ (9-11) : Here are some words translated from . 9-11) : B9 §§‘ 0 96 6O QIS ’ G
an artificial language. Answer the related v g%l(ﬂlaﬁ)l g,,@g; 9 6]61 oea @Q@ 63,_8!&’9
questions. ) .. ..

9. ‘aptagse’ means ‘first base’ 9. | aptaose’ QA 2¢ ‘first base’

“
. ) , ) .
“eptaose’ méans ‘second base’ eptaose’ @ % ‘second base” -

‘lartabuk’ means ‘ballpark’ .. lartabuk’ Q28] "'ba”Pf"k"
Which word could mean ‘baseball’ ? GQQ*QQQ &l ‘Daseball® 7 -
A buklarta | ' A buklarta

iB oseepta B. oseepta

C. bukose C.  bukose

D. oselarta D. oselarta
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10. . ‘krekinblaf means ‘workforce’ 10.

‘dritakrekin’ means ‘groundwork’
‘krekinalti’ means ‘workplace’

Which word could mean ‘someplace’ ?

A moropalti

B. krekindrita
C. altiblaf
D. dritaalti
1. ‘relftaga’means ‘carefree’ 4 1{ .

‘otaga’ means ‘careful’
‘fertaga’ means ‘careless’
Which word could mean ‘aftercare” ?
A. zentaga

B. tagafer
C. tagazen
D

relffer

Q (12-15) : Select a figure from amongst the
Answer Figures which will continue the same «
series as established by the five Problem
Figures.

Problem figures (9¢] 8€)

_‘krekinblaf’ Q 2¢ ‘workforce’

‘dritakrekin’ Q 2¢] ‘groundwork’
‘krekinalti’ 9 2¢] ‘workplace’

 6@al 6109 2] ‘someplace’ ?

A moropalti

B. krekindrita
C.. altiblaf
D. dritaalti

‘relftaga’ o 2 ‘carefree’
‘otaga’ Q2] ‘careful’
‘fertaga’ 02 ‘careless’

604 609 8¢ ‘aftercare’ ?

A.  zentaga
B. tagafer
C. taga?en
D

relffer

9] (1 2-15): <I8Q Q¢ PR GFQ ARMAKR QIOG{
‘F0RE 06 Q0% 5@ R QIR |

Answer figures (Q@Q §¢)

12, 1 s|S1lA¢ < Lc:\. | DLS.:[LQIDL

@ B © O &

o0 w >
A WO N

oo ® »

@ 6 o

A ON

SMS - 2015-16¢



13.  Problem figures (g §6})‘ : Answer figures (@8 o)
v o]0 X *]¢ X X|°* . . . Te 3
® 0 010 o 2e 0 40 & olX o & e olX » o * NiX = X
e oo sl o™ | ¥ Yol Nl R I
(A) B ©) @O (& (1) .(2)- (3) “@ .
W » - AT
B. 2 B. 2
C. 3 C. )
<D. 4 D. 4
Problem figures (9§] ©6) . Answer figures (@8 6¢)
14. - \ |
R B R|E R RBIR| B
Ay @B .© @O (E) (1) @ 3 @
A. 1 A 1
B. 2 B 2
C. 3 C. 3
D. 4 D 4
Problem figures (g 86) " Answer figures (@8 9)
B oreTAeTATOT TS T
QH>J(E>1(:|0F1 Lic¢ >:]<):]c>:]jE:|a
a3 BV, n v o R N
A B (© O (E @ 6 @
A. 1 A 1
B. 2 B. 2 .
C. 3 4 C. 3
D. 4 D. 4

16. - Choose the alternative which closely g ‘FAMILY' @ @7 9504 @41 ?
resembles the water image of ‘FAMILY".

_ A. AVWLA
A VALA B EYIAITA
° EVIITA C.  kvMnA
‘C. EYMIIA 5 vam
D EVINITA '
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Q (17-18) Find the number of triangles in the g6 (17-18) G ORER 6R6HIT Bae 28 Oa%

given figure from the alternatives. FRIYG) @ig !
17. - 17.
A 28 -
A 28
B. 32
' B. 32
C. 36
‘ C. 36
D. 40 :
' . D. 40
18 /\ ' /\
: , 18.
A& A 27
B. | 25 B. 25
C. 23 C 23
D. . ‘
20 D. 20

Q (19-20) : Find out from -amongst the four

19-20) : 9@ QIINEQ AR (X) $eTQ 0L 68
alternatives as to how the pattern would appear a4 (19-20) (X) 580 94, 540

AR 6RBNIER QT REM AT FIAF FRIG) 6RE 098

when the transparent sheet (X) is folded at the 609 QI8 |
dotted line. :
2 : ‘. ‘.llE .-.'-: " ....E
19. x ; §<
- eeesd . wd esned esead
X) (1 @ - 3) C))
AT | | A1
B. 2 B 2
C. 3 C 3
B @ D. 4
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20. q O @ . ‘
0 | RO ® 0 @
A1 A1
B. 2 B. 2
C. 3 C. 3
. D. 4 ‘ D. 4

Q (21-23) Find out which of the figures (1), (2), €] (21-23) : (X) 6@ 2 618 56 GEQERR (1), (2).
(3) and (4) can be formed from the pieces given ° (3) 8 (4) 9Q% FIRS FRNG 6T GG SR

in figure (X). Qe 996 QA |
| w0 @ @ @
A. 1 A 1
B 2 B 2
c 3 c 3
D 4 D 4 -

22, ) A
X) M @ - 4
AL A1
B 2 B 2
C 3 c 3"
D 4 D 4.
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23.

N

® (1) (2) ) . (4)
A1 A
B. 2 . 2
c. 3 ¢ 3
D. 4 D. 4

Q (24-26) : Select a suitable figure from the
Answer Figures that would replace the question

© (?) mark.

ORI

25.

Problem figures (9¢ 8¢)

@a @ © O
1

o 0o w >
HowN

Problem figures (€8] 6€)

a5l (24-26) gg Se6R 2RI g4 9 I IR AeR

R6R &Rl 60Q FATT gqm ?

Answer figures (@@ 0e)-

il .

(1)

Answer figures (QQQ 96‘

)

o o w >

i.ﬂﬂd

A
B.
C
D

HOWN
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26.

27.

28.

29.

f.|.—o{-e-

Problem figures (99 8e)

7]

a4 ® © (@

A1
B. 2
c 3
D. 4

X +ymeans y is the daughter of y;
X -Y means Xisthe brotherof y; X%Y
means x
X xy means y is the sister of y Which
of the following means ; is the niece of J ?

A J—-N%CxI

B. IxC—-N%J

C. J+MxC%I

D. IxC+N-J

A $ B means A is the father of B; A# B
means A is the sister of B;A* B means A
is the daughter of B andA @ B meansAis
the brother of B. Which of the following
indicates that M is the wife of Q?

A QSRE#T@M

B. QSR@T#M

C. Q$R*'T#M

D. Q$SR@T*M

B5D means B is the father of D. B9D =

means B is the sister of D. B4D means B
is the brother of D. B3D means B is the
wife of D. Which of the following means F
is the mother of K?

A F3M5K
B.  F5M3K
C.  FOMAN3K
D

F3MSN3K

SMS -2015-16

is the father of yand

Answer figures (QQQ 60)

27.

28.

10

i Al
2 G @&

29.

cow>

(

A1
B. 2
c. 3

'D. 4

x+y Q8 x,y Q% x-y a2
X.Y Q8 Y%y 98l x, y Qo
W® xxy 98 x.y Q0ad | 67 dew
FRNG 6ecea e 7, J @ B2 ?

A J-N%CxI
B. . IxC~-N%J

. C. J+MxC%I

D. ~ IxC+N-J

A$BQIIA BaQalA#BQAIA BQ
aamA*BaaeIA,BMaWA@BQae]
A, B Q QIR 5¢] 3ae FrNg sedoa ad M, Q
Qa?

A QSRET@M
B. QS$R@T#M

- C. QSR*T#M:

D. Q$R@T*M

BSD @ 2¥lB, D Q| BSD Q&I B, D Q
Q8| B4D Q & B, D @ @R 8 B3D @ 2

B, D @ 911 7] 967 FRMQ 6060Q 2 F, K @
al?

F3M5K
FSM3K
FOM4N3K
F3MSN3K



Q(30-32) : P, T, V, R, M, D, K and W are sitting
around a circular table facing the Centre. V is
second to the left of T. T is fourth to the right of M.

D and P are not immediate neighbours of T. D is .

third to the right of P. W is not an immediate
neighbour of P. P is to the immediate left of K.

30.  Who is second to the left of K?
A P
B R
c. M
D w
31. © What is R's position with respect to V?
A, Thirdtothe rigﬁg_ |
B. Fifth to the right
C.  Thirdtothe left
'D.  Secondtothe left |
32. Who is si(tiné second to the rig.ht c;f,the
one who is sitting on the immediate right
of W?
A u
B. R
c. Vv
D. P

Q. (33-35) : Choose the terms out of the given
alternatives to fill theéguestions (?) marks.
QL IR 22 s W N PR gy

3. ZS,WOTKQG?,?
N, C
5 KD
C. 0¢C
D. 0D

11

.

94 (30-32) : P, T, V, R, M, D, K8 W 4@ 66IRIQIQ
ETORA PIAK6S 65N FRG AR @A 0881 V, T @
QlF 66" G014 YRERA QAR | T, M Q Q12181 969 ¥ &
Jrea Qe DB P, TQOREReARILS D,
P Q Q08 €6¢ 061 AR 08 | W, P Q AIgi6R
QAPE I P, K Q OR QI 965 038 | '

30. K a o oes §610 gesa & 0d8" ?
A P
B. R
C. M
D. W
31.  VodRi g enaise R QYR 6a60 ?
A GRIEQEEE
B. olRiSig a8
C. orResa
D. QIfg oA
32. W Q0R.6121 969 64 98 01’ 616 6

Q010 AR @I\ ?
A

u
B R
C. Vv
D M

€] (33-35) : @0 0@T FRMG. 9§ §3(?) A YR el
aal . |

3. ZS,WOTKQG?,?

A NC
B. 'N,D
C. O,C
D. OD
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- 34. . ajs, gpy, 7, sbk,yhq

A - dmv
B. mve. - :
C. oua
D. aqai

3. Z,XS,,RR7?,?

A JI

B. JK
.C. KM

D. GV

Q (36-38) : Study the following figure and
answer the questions given below.

36. By which letter, the married teachers

who live i in joint family are represented'>

. s wlig

A R
B. Q
c. s
D. P

37. By which letter, the married people who
live in-joint family but not are school
teachers are represented?

A R
B. U
C. S
D. P

SMS - 2015-16

34, ajs, gpy. ?,sbk, yhq

A dmv

B. mve
C. oua

D. qz

3%.  ZXSLRR?.?
A4l
B. JK
C.- KM
D Gl

0% (36-38) : 771 §0q ERMIRRA 67 AGE gq
q@m ookl

2

[_]— Mariied people (RS 6mI&)

—. People who live in joint family
(612l TRRINER QYR 6RIR)

A = Teachers ( §8%)

P

36. 642 IORINER QLRI IR AVRAUSH
C 600 290 QA §56 62088 ?

A R
B. Q
c. s
D. P

37, 631 e0eRER  0Q2R1 DRE RIG 6IRFIER |
8@ RE%, 604 29Q QA @Q@ 62085 ?

‘R
.B. U
cC. S

P

o

12



38.

By which letter people who live in joint
family but neither married nor teachers are

: represented ?
AT

B. R

c.

D. s

Q (39-42) : All the faces of a cube are painted
with red colour. The cube is cut mto 64 equal small

cubes.
39.

How many small cubes have only one face

~ coloured?
A . 4
B. 8
cC. 16
D. 24

. 40.

41.

42.

How many small cubes have no faces
coloured?

A 24
B. 8
c. 16
D. 0

How many small cubes are there whose
only three faces are coloured?

A 4
B. 16
c. 8

D. 24

How many small cubes are there whose

two adjacent faces are coloured?

A 0

B. 8
C. 16
D. 24

38.

64121 TRRIRER NG 6AIR CLFIEH FRITS .
RID @ 996 AP, 604 2TQ QA §86
60088 ?

AT
B. ‘R
- C. Q
D. S

gq (39-42) : 4@ TR Y. AgER AR o
GRICIOR | GR0Q IR 64 § TP TR P08
eaueRI T -

39.

40.

41.

42.

13

Q6010 AP TAR se@e 661N GIGISQ P
A ? .

-

A 4
B. 8

c. = 16,
D. 24

66616 AR TR 6HEIA T65' O AINRE ?

A 24
'B. 8
c. 18

D. 0

QR0 IR AR 6ReR &F andsa 8
RO ?

A 4
' B. 16
"C. 8
D. 24
. 6@6610 IR TAN 6600 QR0 AR SIgen
oEF RIGE ?
"0
B. 8
C. 16
24

o
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43.  Below four positions of a Die are shown.  43. © A¢6Q 4@ SRR PIEAIT 2RYR QSRR |
Which alphabets will be opposite to'KL'? . KL’ G 90016 966" 66! 28R 0RQ ?

A AB A
B.. CD B. CD
C. FEF C. FEF
5 oM . D. GH

44. 1 CONCEPT is written as ‘unmulqr’and 44~ €0 CONCEPT g ‘unmulgr’ @ FRIEND
FRIEND is written as "ysglmt', then how q_' ysglmt GQIQ 6@6‘"0!‘0, 666@ PREDICT v

is PREDICT written in that code? . §6af eneide ?
A.  usygmnl A usygmnl ,.
B' simgtur | B. simgtur

C. qsltgur C. gsltgur

D. qgmnltr - D. qgmnltr~

45. A,B,C,D EGF 4@aAa 9 S ag i fea
210 A% 2ege Q4lIeR | 'D’ QI 66 &Rl
6967 QUG 604 I e ?

 45. A, B,C,D, EandF are six sides of a cube.
Two positions of the cube are shown
below. When the surface ‘D"is in the
bottom, what surface will be on top?

”

A /A A A
c o € ¢ . ¢ |® B
A D A D
B. A B. A
c. B c. 8
D. F B.. F
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Q (46-50) : Which altematlve wull replace the
questlon (?) mark. -

46. ' -6 " ’ 46.
| 90
4| 24 2. |18
40
10 "\
A 96
B. 150
C. 400 '
- D. None of these

5. 8 7 4 4 5
48. | '7 9 " @9 '7 ms 48.
: 4 . 8 .
A 115
B. 130
Cc
D

135
140

15

oo ® »

96 (46-50) : 660 T%F g 0% g Qe aUgs ?

90

10

96
150
400

616G Q6

115

130
135
140
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10 16 18 - 10 16 15

12‘@-151;@—281‘_@23 12&15]1@2&#\_@23
49. , - 49.

9 20 . 16 _ -9 20 . 16
A 1 A 11
B. 14 B: 14
C. 10 c. 10
D. 12 D, 12
) 50.
B. 29 _B- 29
Cc. 39 C. 39
D. 37 g &
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